

Super congruences concerning Bernoulli polynomials

Zhi-Hong Sun

School of Mathematical Sciences
 Huaiyin Normal University
 Huaian, Jiangsu 223001, P.R. China
 zhihongsun@yahoo.com
<http://www.hytc.edu.cn/xsjl/szh>

Let $p > 3$ be a prime, and let a be a rational p -adic integer. Let $\{B_n(x)\}$ denote the Bernoulli polynomials given by $B_0 = 1$, $\sum_{k=0}^{n-1} \binom{n}{k} B_k = 0$ ($n \geq 2$) and $B_n(x) = \sum_{k=0}^n \binom{n}{k} B_k x^{n-k}$ ($n \geq 0$). In this paper, using Bernoulli polynomials we establish congruences for $\sum_{k=1}^{p-1} \frac{1}{k} \binom{a}{k} \binom{-1-a}{k} \pmod{p^3}$ and $\sum_{k=1}^{p-1} \frac{(-1)^{k-1}}{k} \binom{a}{k} \pmod{p^2}$. As a consequence we solve the following conjecture of Z.W. Sun:

$$\sum_{k=1}^{p-1} \frac{\binom{2k}{k} \binom{4k}{2k}}{64^k k} \equiv -3H_{\frac{p-1}{2}} + \frac{7}{4} p^2 B_{p-3} \pmod{p^3},$$

where $H_n = 1 + \frac{1}{2} + \dots + \frac{1}{n}$.

Keywords: Congruence; Bernoulli polynomial; Bernoulli number.

Mathematics Subject Classification 2010: Primary 11A07, Secondary 11B68, 05A19

1. Introduction

The Bernoulli numbers $\{B_n\}$ and Bernoulli polynomials $\{B_n(x)\}$ are defined by

$$B_0 = 1, \sum_{k=0}^{n-1} \binom{n}{k} B_k = 0 \quad (n \geq 2) \quad \text{and} \quad B_n(x) = \sum_{k=0}^n \binom{n}{k} B_k x^{n-k} \quad (n \geq 0).$$

The Euler numbers $\{E_n\}$ are defined by $E_0 = 1$ and $E_n = -\sum_{k=1}^{\lfloor n/2 \rfloor} \binom{n}{2k} E_{n-2k}$ ($n \geq 1$), where $\lfloor a \rfloor$ is the greatest integer not exceeding a . In [S5] the author introduced the sequence $\{U_n\}$ given by $U_0 = 1$ and $U_n = -2 \sum_{k=1}^{\lfloor n/2 \rfloor} \binom{n}{2k} U_{n-2k}$ ($n \geq 1$). It is well known that $B_{2n+1} = 0$ and $E_{2n-1} = U_{2n-1} = 0$ for any positive integer n . $\{B_n\}$, $\{E_n\}$ and $\{U_n\}$ are important sequences and they have many interesting properties and applications. See [B], [MOS] and [S1-S6].

Let \mathbb{Z} be the set of integers. For a prime p let \mathbb{Z}_p denote the set of rational p -adic integers. For a p -adic integer a let $\langle a \rangle_p \in \{0, 1, \dots, p-1\}$ be given by $a \equiv \langle a \rangle_p \pmod{p}$. In [S7] the author showed that for any odd prime p and $a \in \mathbb{Z}_p$,

$$(1.1) \quad \sum_{k=0}^{p-1} \binom{a}{k} \binom{-1-a}{k} \equiv (-1)^{\langle a \rangle_p} \pmod{p^2}.$$

As pointed out in [S7], we have

$$(1.2) \quad \begin{aligned} \binom{-\frac{1}{2}}{k}^2 &= \frac{\binom{2k}{k}^2}{16^k}, & \binom{-\frac{1}{3}}{k} \binom{-\frac{2}{3}}{k} &= \frac{\binom{2k}{k} \binom{3k}{k}}{27^k}, \\ \binom{-\frac{1}{4}}{k} \binom{-\frac{3}{4}}{k} &= \frac{\binom{2k}{k} \binom{4k}{2k}}{64^k}, & \binom{-\frac{1}{6}}{k} \binom{-\frac{5}{6}}{k} &= \frac{\binom{3k}{k} \binom{6k}{3k}}{432^k}. \end{aligned}$$

Let $p > 3$ be a prime and $a \in \mathbb{Z}_p$. In [T2] Tauraso obtained a congruence for $\sum_{k=1}^{p-1} \frac{1}{k} \binom{a}{k} \binom{-1-a}{k} \pmod{p^2}$. In [Su], the author's brother Z.W. Sun conjectured that

$$(1.3) \quad \sum_{k=1}^{p-1} \frac{\binom{2k}{k} \binom{4k}{2k}}{64^k k} \equiv -3H_{\frac{p-1}{2}} + \frac{7}{4}p^2 B_{p-3} \pmod{p^3},$$

where $H_n = 1 + \frac{1}{2} + \dots + \frac{1}{n}$.

Let $p > 3$ be a prime, $a \in \mathbb{Z}_p$ and $t = (a - \langle a \rangle_p)/p$. In this paper we prove that

$$\sum_{k=1}^{p-1} \frac{\binom{a}{k} \binom{-1-a}{k}}{k} \equiv -\frac{2}{3}p^2 t(t+1) B_{p-3}(-a) - 2 \frac{B_{p^2(p-1)}(-a) - B_{p^2(p-1)}}{p^2(p-1)} \pmod{p^3}.$$

As consequences we completely determine

$$\sum_{k=1}^{p-1} \frac{\binom{2k}{k} \binom{3k}{k}}{27^k k}, \quad \sum_{k=1}^{p-1} \frac{\binom{2k}{k} \binom{4k}{2k}}{64^k k}, \quad \sum_{k=1}^{p-1} \frac{\binom{3k}{k} \binom{6k}{3k}}{432^k k} \pmod{p^3}.$$

In particular, we confirm (1.3) and prove that

$$(1.4) \quad \sum_{k=1}^{p-1} \frac{\binom{2k}{k} \binom{3k}{k}}{27^k k} \equiv 3q_p(3) - \frac{3}{2}p q_p(3)^2 + p^2 \left(q_p(3)^3 + \frac{52}{27} B_{p-3} \right) \pmod{p^3},$$

where $q_p(a) = (a^{p-1} - 1)/p$. We also show that

$$\sum_{k=1}^{p-1} \frac{(-1)^{k-1}}{k} \binom{a}{k} \equiv \frac{B_{p^2(p-1)}(-a) - B_{p^2(p-1)}}{p^2(p-1)} - \frac{a - \langle a \rangle_p}{2} B_{p-2}(-a) \pmod{p^2}$$

and completely determine $\sum_{k=1}^{p-1} \frac{(-1)^{k-1}}{k} \binom{a}{k} \pmod{p^2}$ in the cases $a = -\frac{1}{3}, -\frac{1}{4}, -\frac{1}{6}$. For example,

$$(1.5) \quad \sum_{k=1}^{p-1} \frac{(-1)^{k-1}}{k} \binom{-1/4}{k} \equiv -3q_p(2) + p \left(\frac{3}{2}q_p(2)^2 + \left(2 - \left(\frac{-1}{p} \right) \right) E_{p-3} \right) \pmod{p^2},$$

where $\left(\frac{\cdot}{p} \right)$ is the Legendre symbol.

2. Congruences for $\sum_{k=1}^{p-1} \frac{1}{k} \binom{a}{k} \binom{-1-a}{k} \pmod{p^3}$

For any positive integer n and variable a let

$$S_n(a) = \sum_{k=1}^n \frac{1}{k} \binom{a}{k} \binom{-1-a}{k}.$$

Then

$$\begin{aligned} S_n(a) - S_n(a-1) &= \sum_{k=1}^n \frac{1}{k} \left\{ \binom{a}{k} \binom{-1-a}{k} - \binom{a-1}{k} \binom{-a}{k} \right\} \\ &= \sum_{k=1}^n \frac{1}{k} \binom{a}{k} \binom{-a}{k} \left(\frac{a+k}{a} - \frac{a-k}{a} \right) = \frac{2}{a} \sum_{k=1}^n \binom{a}{k} \binom{-a}{k}. \end{aligned}$$

By [S7, (4.5)] or induction on n ,

$$\sum_{k=0}^n \binom{a}{k} \binom{-a}{k} = \binom{n+a}{n} \binom{n-a}{n} = \binom{a-1}{n} \binom{-a-1}{n}.$$

Thus,

$$(2.1) \quad S_n(a) - S_n(a-1) = \frac{2}{a} \binom{a-1}{n} \binom{-a-1}{n} - \frac{2}{a}.$$

Lemma 2.1 ([S7, Lemma 4.2]). *Let p be an odd prime, $m \in \{1, 2, \dots, p-1\}$ and $t \in \mathbb{Z}_p$. Then*

$$\binom{m+pt-1}{p-1} \equiv \frac{pt}{m} - \frac{p^2 t^2}{m^2} + \frac{p^2 t}{m} H_m \pmod{p^3}.$$

By (2.1) and Lemma 2.1, if p is an odd prime and $a \in \mathbb{Z}_p$ with $a \not\equiv 0 \pmod{p}$, then

$$(2.2) \quad S_{p-1}(a) - S_{p-1}(a-1) \equiv \frac{2t(t+1)}{a \langle a \rangle_p^2} p^2 - \frac{2}{a} \equiv \frac{2t(t+1)}{\langle a \rangle_p^3} p^2 - \frac{2}{a} \pmod{p^3},$$

where $t = (a - \langle a \rangle_p)/p$.

Lemma 2.2. *Let $p > 3$ be a prime and $t \in \mathbb{Z}_p$. Then*

$$\sum_{k=1}^{p-1} \frac{1}{k} \binom{pt}{k} \binom{-1-pt}{k} \equiv -\frac{2}{3} p^2 t B_{p-3} \pmod{p^3}.$$

Proof. For $k \in \{1, 2, \dots, p-1\}$ we see that

$$\begin{aligned} \binom{pt}{k} \binom{-1-pt}{k} &= \frac{pt(pt-1) \cdots (pt-k+1)(-1-pt)(-2-pt) \cdots (-k-pt)}{k!^2} \\ &= \frac{(-1)^k pt(pt+k)}{k!^2} (p^2 t^2 - 1^2) \cdots (p^2 t^2 - (k-1)^2) \end{aligned}$$

$$\equiv -\frac{pt(pt+k)}{k^2} = -\frac{p^2t^2}{k^2} - \frac{pt}{k} \pmod{p^3}.$$

Thus,

$$\sum_{k=1}^{p-1} \frac{1}{k} \binom{pt}{k} \binom{-1-pt}{k} \equiv -p^2t^2 \sum_{k=1}^{p-1} \frac{1}{k^3} - pt \sum_{k=1}^{p-1} \frac{1}{k^2} \pmod{p^3}.$$

By [L] or [S2, Corollary 5.1], $\sum_{k=1}^{p-1} \frac{1}{k^3} \equiv 0 \pmod{p}$ and $\sum_{k=1}^{p-1} \frac{1}{k^2} \equiv \frac{2}{3}pB_{p-3} \pmod{p^2}$. Thus the result follows.

Lemma 2.3. *Let $p > 3$ be a prime, $a \in \mathbb{Z}_p$, $a \not\equiv 0 \pmod{p}$ and $t = (a - \langle a \rangle_p)/p$. Then*

$$\sum_{k=1}^{p-1} \frac{\binom{a}{k} \binom{-1-a}{k}}{k} \equiv -\frac{2}{3}p^2tB_{p-3} - 2 \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r} + 2pt \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r^2} + 2p^2t \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r^3} \pmod{p^3}.$$

Proof. For $1 \leq k \leq \langle a \rangle_p$ we have $\langle a - k + 1 \rangle_p = \langle a \rangle_p - k + 1$ and so $a - k + 1 = \langle a - k + 1 \rangle_p + pt$. Using (2.2) we see that

$$\begin{aligned} & S_{p-1}(a) - S_{p-1}(a - \langle a \rangle_p) \\ &= \sum_{k=1}^{\langle a \rangle_p} (S_{p-1}(a - k + 1) - S_{p-1}(a - k)) \equiv \sum_{k=1}^{\langle a \rangle_p} \left(\frac{2t(t+1)p^2}{\langle a - k + 1 \rangle_p^3} - \frac{2}{a - k + 1} \right) \\ &= 2t(t+1)p^2 \sum_{k=1}^{\langle a \rangle_p} \frac{1}{(\langle a \rangle_p - k + 1)^3} - 2 \sum_{k=1}^{\langle a \rangle_p} \frac{1}{\langle a \rangle_p - k + 1 + pt} \\ &= 2t(t+1)p^2 \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r^3} - 2 \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r + pt} \pmod{p^3}. \end{aligned}$$

Note that

$$\begin{aligned} \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r + pt} &= \sum_{r=1}^{\langle a \rangle_p} \frac{r^2 - ptr + p^2t^2}{r^3 - (pt)^3} \equiv \sum_{r=1}^{\langle a \rangle_p} \frac{r^2 - ptr + p^2t^2}{r^3} \\ &= \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r} - pt \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r^2} + p^2t^2 \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r^3} \pmod{p^3}. \end{aligned}$$

We then obtain

$$S_{p-1}(a) - S_{p-1}(a - \langle a \rangle_p) \equiv -2 \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r} + 2pt \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r^2} + 2p^2t \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r^3} \pmod{p^3}.$$

By Lemma 2.2, $S_{p-1}(a - \langle a \rangle_p) = S_{p-1}(pt) \equiv -\frac{2}{3}p^2tB_{p-3} \pmod{p^3}$. Thus the result follows.

Theorem 2.1. *Let $p > 3$ be a prime, $a \in \mathbb{Z}_p$, $a \not\equiv 0 \pmod{p}$ and $t = (a - \langle a \rangle_p)/p$. Then*

$$\sum_{k=1}^{p-1} \frac{\binom{a}{k} \binom{-1-a}{k}}{k} \equiv -\frac{2}{3}p^2t(t+1)B_{p-3}(-a) - 2 \frac{B_{p^2(p-1)}(-a) - B_{p^2(p-1)}}{p^2(p-1)} \pmod{p^3}.$$

Proof. It is well known that (see [MOS])

$$(2.3) \quad \sum_{r=1}^m r^k = \frac{B_{k+1}(m+1) - B_{k+1}}{k+1},$$

$$(2.4) \quad B_n(x+y) = \sum_{k=0}^n \binom{n}{k} y^k B_{n-k}(x), \quad B_n(1-x) = (-1)^n B_n(x).$$

Thus, using Euler's theorem we see that

$$\begin{aligned} & pt \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r^2} - \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r} \\ & \equiv pt \sum_{r=1}^{\langle a \rangle_p} r^{p^2(p-1)-2} - \sum_{r=1}^{\langle a \rangle_p} r^{p^2(p-1)-1} \\ & = pt \frac{B_{p^2(p-1)-1}(\langle a \rangle_p + 1) - B_{p^2(p-1)-1}}{p^2(p-1) - 1} - \frac{B_{p^2(p-1)}(\langle a \rangle_p + 1) - B_{p^2(p-1)}}{p^2(p-1)} \\ & = -pt \frac{B_{p^2(p-1)-1}(-\langle a \rangle_p)}{p^2(p-1) - 1} - \frac{B_{p^2(p-1)}(-\langle a \rangle_p) - B_{p^2(p-1)}}{p^2(p-1)} \\ & = -pt \frac{B_{p^2(p-1)-1}(pt-a)}{p^2(p-1) - 1} - \frac{B_{p^2(p-1)}(pt-a) - B_{p^2(p-1)}(-a) + B_{p^2(p-1)}(-a) - B_{p^2(p-1)}}{p^2(p-1)} \\ & = \frac{-pt}{p^2(p-1) - 1} \sum_{k=0}^{p^2(p-1)-1} \binom{p^2(p-1)-1}{k} (pt)^k B_{p^2(p-1)-1-k}(-a) \\ & \quad - \frac{1}{p^2(p-1)} \sum_{k=1}^{p^2(p-1)} \binom{p^2(p-1)}{k} (pt)^k B_{p^2(p-1)-k}(-a) - \frac{B_{p^2(p-1)}(-a) - B_{p^2(p-1)}}{p^2(p-1)} \pmod{p^3}. \end{aligned}$$

By [S1, Lemma 2.3], $B_m(-a) \in \mathbb{Z}_p$ for $m \not\equiv 0 \pmod{p-1}$ and $pB_m(-a) \in \mathbb{Z}_p$ for $m \equiv 0 \pmod{p-1}$. Thus,

$$\begin{aligned} & pt \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r^2} - \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r} + \frac{B_{p^2(p-1)}(-a) - B_{p^2(p-1)}}{p^2(p-1)} \\ & \equiv pt(B_{p^2(p-1)-1}(-a) + (p^2(p-1) - 1)ptB_{p^2(p-1)-2}(-a)) \\ & \quad - ptB_{p^2(p-1)-1}(-a) - \frac{p^2(p-1) - 1}{2}(pt)^2 B_{p^2(p-1)-2}(-a) \\ & \equiv -p^2 t^2 B_{p^2(p-1)-2}(-a) + \frac{1}{2} p^2 t^2 B_{p^2(p-1)-2}(-a) \\ & = -\frac{1}{2} p^2 t^2 B_{(p^2-1)(p-1)+p-3}(-a) \pmod{p^3}. \end{aligned}$$

By [S2, Corollary 3.1],

$$B_{(p^2-1)(p-1)+p-3}(-a) \equiv ((p^2-1)(p-1) + p - 3) \frac{B_{p-3}(-a)}{p-3} \equiv \frac{2}{3} B_{p-3}(-a) \pmod{p}.$$

Thus,

$$(2.5) \quad pt \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r^2} - \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r} \equiv -\frac{B_{p^2(p-1)}(-a) - B_{p^2(p-1)}}{p^2(p-1)} - \frac{1}{3}p^2t^2B_{p-3}(-a) \pmod{p^3}.$$

By [S2, Lemma 3.2],

$$(2.6) \quad \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r^3} \equiv \sum_{r=1}^{\langle a \rangle_p} r^{p-4} \equiv \frac{B_{p-3}(-a) - B_{p-3}}{p-3} \equiv -\frac{1}{3}(B_{p-3}(-a) - B_{p-3}) \pmod{p}.$$

Thus, from Lemma 2.3, (2.5) and (2.6) we derive that

$$\begin{aligned} \sum_{k=1}^{p-1} \frac{\binom{a}{k} \binom{-1-a}{k}}{k} &\equiv -\frac{2}{3}p^2tB_{p-3} - 2 \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r} + 2pt \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r^2} + 2tp^2 \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r^3} \\ &\equiv -\frac{2}{3}p^2tB_{p-3} - 2 \frac{B_{p^2(p-1)}(-a) - B_{p^2(p-1)}}{p^2(p-1)} \\ &\quad - \frac{2}{3}p^2t^2B_{p-3}(-a) - \frac{2}{3}p^2t(B_{p-3}(-a) - B_{p-3}) \\ &\equiv -\frac{2}{3}p^2t(t+1)B_{p-3}(-a) - 2 \frac{B_{p^2(p-1)}(-a) - B_{p^2(p-1)}}{p^2(p-1)} \pmod{p^3}. \end{aligned}$$

This completes the proof.

Lemma 2.4 ([MOS]). *For any positive integer n we have*

$$\begin{aligned} B_{2n}\left(\frac{1}{2}\right) &= (2^{1-2n} - 1)B_{2n}, \quad B_{2n}\left(\frac{1}{3}\right) = \frac{3 - 3^{2n}}{2 \cdot 3^{2n}}B_{2n}, \\ B_{2n}\left(\frac{1}{4}\right) &= \frac{2 - 2^{2n}}{4^{2n}}B_{2n}, \quad B_{2n}\left(\frac{1}{6}\right) = \frac{(2 - 2^{2n})(3 - 3^{2n})}{2 \cdot 6^{2n}}B_{2n}. \end{aligned}$$

Theorem 2.2. *Let $p > 3$ be a prime. Then*

$$\begin{aligned} \text{(i)} \quad &\sum_{k=1}^{p-1} \frac{\binom{2k}{k} \binom{3k}{k}}{27^k k} \equiv 3q_p(3) - \frac{3}{2}pq_p(3)^2 + p^2\left(q_p(3)^3 + \frac{52}{27}B_{p-3}\right) \pmod{p^3}, \\ \text{(ii)} \quad &\sum_{k=1}^{p-1} \frac{\binom{2k}{k} \binom{4k}{2k}}{64^k k} \equiv 6q_p(2) - 3pq_p(2)^2 + p^2\left(2q_p(2)^3 + \frac{7}{2}B_{p-3}\right) \pmod{p^3}, \\ \text{(iii)} \quad &\sum_{k=1}^{p-1} \frac{\binom{6k}{3k} \binom{3k}{k}}{432^k k} \equiv 4q_p(2) + 3q_p(3) - p\left(2q_p(2)^2 + \frac{3}{2}q_p(3)^2\right) \\ &\quad + p^2\left(\frac{4}{3}q_p(2)^3 + q_p(3)^3 + \frac{455}{54}B_{p-3}\right) \pmod{p^3}. \end{aligned}$$

Proof. By Lemma 2.4,

$$B_{p-3}\left(\frac{1}{3}\right) = \frac{3 - 3^{p-3}}{2 \cdot 3^{p-3}}B_{p-3} \equiv 13B_{p-3} \pmod{p},$$

$$B_{p-3}\left(\frac{1}{4}\right) = \frac{2-2^{p-3}}{4^{p-3}}B_{p-3} \equiv 28B_{p-3} \pmod{p},$$

$$B_{p-3}\left(\frac{1}{6}\right) = \frac{(2-2^{p-3})(3-3^{p-3})}{2 \cdot 6^{p-3}}B_{p-3} \equiv 91B_{p-3} \pmod{p}.$$

By [S4, p.287],

$$(2.7) \quad \frac{B_{p^2(p-1)} - B_{p^2(p-1)}\left(\frac{1}{3}\right)}{p^2(p-1)} \equiv \frac{3}{2}\left(q_p(3) - \frac{1}{2}pq_p(3)^2 + \frac{1}{3}p^2q_p(3)^3\right) \pmod{p^3},$$

$$(2.8) \quad \frac{B_{p^2(p-1)} - B_{p^2(p-1)}\left(\frac{1}{4}\right)}{p^2(p-1)} \equiv 3\left(q_p(2) - \frac{1}{2}pq_p(2)^2 + \frac{1}{3}p^2q_p(2)^3\right) \pmod{p^3},$$

$$(2.9) \quad \frac{B_{p^2(p-1)} - B_{p^2(p-1)}\left(\frac{1}{6}\right)}{p^2(p-1)} \equiv 2\left(q_p(2) - \frac{1}{2}pq_p(2)^2 + \frac{1}{3}p^2q_p(2)^3\right) \\ + \frac{3}{2}\left(q_p(3) - \frac{1}{2}pq_p(3)^2 + \frac{1}{3}p^2q_p(3)^3\right) \pmod{p^3}.$$

Now taking $a = -\frac{1}{3}, -\frac{1}{4}, -\frac{1}{6}$ in Theorem 2.1 and then applying (1.2) and the above we deduce the result.

Remark 2.1 Let $p > 3$ be a prime. In [T2] Tauraso showed that $\sum_{k=1}^{p-1} \frac{\binom{2k}{k}^2}{16^k k} \equiv -2H_{\frac{p-1}{2}} \pmod{p^3}$, which can be deduced from Theorem 2.1 (with $a = -\frac{1}{2}$) and the congruence ([S2, Theorem 5.2(c)])

$$(2.10) \quad H_{\frac{p-1}{2}} \equiv -2q_p(2) + pq_p(2)^2 - \frac{2}{3}p^2q_p(2)^3 - \frac{7}{12}p^2B_{p-3} \pmod{p^3}.$$

By (2.10), Theorem 2.2(ii) is equivalent to Z.W. Sun's conjecture (1.3).

3. Congruences for $\sum_{k=1}^{p-1} \frac{(-1)^{k-1}}{k} \binom{a}{k} \pmod{p^2}$

For given positive integer n and variables a and b with $b \notin \{0, 1, \dots, n-1\}$ define

$$f_n(a, b) = \sum_{k=1}^n \frac{\binom{a}{k}}{k \binom{b}{k}}.$$

Then

$$f_n(a, b) - f_n(a-1, b) = \sum_{k=1}^n \frac{\binom{a}{k} - \binom{a-1}{k}}{k \binom{b}{k}} = \sum_{k=1}^n \frac{\frac{1}{k} \binom{a-1}{k-1}}{\binom{b}{k}} = \frac{1}{a} \sum_{k=1}^n \frac{\binom{a}{k}}{\binom{b}{k}}.$$

By Lerch's theorem ([B, p.86]) or induction on n ,

$$(3.1) \quad \sum_{k=0}^n \frac{\binom{a}{k}}{\binom{b}{k}} = \frac{b+1}{b+1-a} \left\{ 1 - \frac{\binom{a}{n+1}}{\binom{b+1}{n+1}} \right\}.$$

Thus,

$$\begin{aligned}
(3.2) \quad f_n(a, b) - f_n(a-1, b) &= \frac{1}{a} \left\{ \frac{b+1}{b+1-a} - 1 - \frac{b+1}{b+1-a} \cdot \frac{\binom{a}{n+1}}{\binom{b+1}{n+1}} \right\} \\
&= \frac{1}{b+1-a} - \frac{1}{b+1-a} \cdot \frac{\binom{a-1}{n}}{\binom{b}{n}}.
\end{aligned}$$

Lemma 3.1. *Let p be an odd prime, $n \in \{1, 2, 3, \dots\}$, $a, b \in \mathbb{Z}_p$, $1 \leq \langle a \rangle_p \leq n \leq \langle b \rangle_p$ and $a = \langle a \rangle_p + pt$. Then*

$$\begin{aligned}
\sum_{k=1}^n \frac{\binom{a}{k}}{k \binom{b}{k}} &\equiv pt \sum_{k=1}^n \frac{(-1)^{k-1}}{k^2 \binom{b}{k}} + \sum_{r=1}^{\langle a \rangle_p} \frac{1}{b+1-r} + pt \sum_{r=1}^{\langle a \rangle_p} \frac{1}{(b+1-r)^2} \\
&\quad - \frac{pt}{\binom{b}{n}} \sum_{r=1}^{\langle a \rangle_p} \frac{(-1)^{n-r}}{(b+1-r)r \binom{n}{r}} \pmod{p^2}.
\end{aligned}$$

Proof. By (3.2),

$$\begin{aligned}
f_n(a, b) - f_n(a - \langle a \rangle_p, b) &= \sum_{k=1}^{\langle a \rangle_p} (f_n(a - k + 1, b) - f_n(a - k, b)) \\
&= \sum_{k=1}^{\langle a \rangle_p} \frac{1}{b+1 - (a - k + 1)} \left(1 - \frac{\binom{a-k}{n}}{\binom{b}{n}} \right) \\
&= \sum_{k=1}^{\langle a \rangle_p} \frac{1}{b+1 - a + \langle a \rangle_p - (\langle a \rangle_p - k + 1)} \left(1 - \frac{1}{\binom{b}{n}} \binom{\langle a \rangle_p - k + 1 + a - \langle a \rangle_p - 1}{n} \right).
\end{aligned}$$

Substituting k with $\langle a \rangle_p + 1 - r$ in the above we obtain

$$(3.3) \quad f_n(a, b) - f_n(pt, b) = \sum_{r=1}^{\langle a \rangle_p} \frac{1}{b+1-r-pt} - \frac{1}{\binom{b}{n}} \sum_{r=1}^{\langle a \rangle_p} \frac{1}{b+1-r-pt} \binom{r+pt-1}{n}.$$

For $1 \leq r \leq \langle a \rangle_p$ we see that

$$\begin{aligned}
\binom{r-1+pt}{n} &= \frac{(r-1+pt)(r-2+pt) \cdots (1+pt)pt(pt-1) \cdots (pt-(n-r))}{n!} \\
&\equiv \frac{(r-1)! \cdot pt \cdot (-1)^{n-r} \cdot (n-r)!}{n!} = (-1)^{n-r} \frac{pt}{r \binom{n}{r}} \pmod{p^2}
\end{aligned}$$

and so

$$\begin{aligned}
f_n(a, b) - f_n(pt, b) &\equiv \sum_{r=1}^{\langle a \rangle_p} \frac{1}{b+1-r-pt} - \frac{1}{\binom{b}{n}} \sum_{r=1}^{\langle a \rangle_p} \frac{(-1)^{n-r}}{b+1-r-pt} \cdot \frac{pt}{r \binom{n}{r}} \\
&\equiv \sum_{r=1}^{\langle a \rangle_p} \frac{b+1-r+pt}{(b+1-r)^2} - \frac{pt}{\binom{b}{n}} \sum_{r=1}^{\langle a \rangle_p} \frac{(-1)^{n-r}}{(b+1-r)r \binom{n}{r}} \pmod{p^2}.
\end{aligned}$$

On the other hand,

$$f_n(pt, b) = \sum_{k=1}^n \frac{\binom{pt}{k}}{k \binom{b}{k}} = \sum_{k=1}^n \frac{pt \binom{pt-1}{k-1}}{k^2 \binom{b}{k}} \equiv pt \sum_{k=1}^n \frac{\binom{-1}{k-1}}{k^2 \binom{b}{k}} = pt \sum_{k=1}^n \frac{(-1)^{k-1}}{k^2 \binom{b}{k}} \pmod{p^2}.$$

Thus, the result follows.

Theorem 3.1. *Let $p > 3$ be a prime, $a \in \mathbb{Z}_p$ and $a \not\equiv 0 \pmod{p}$. Then*

$$\sum_{k=1}^{p-1} \frac{(-1)^{k-1}}{k} \binom{a}{k} \equiv \frac{B_{p^2(p-1)}(-a) - B_{p^2(p-1)}}{p^2(p-1)} - \frac{a - \langle a \rangle_p}{2} B_{p-2}(-a) \pmod{p^2}.$$

Proof. Set $a = \langle a \rangle_p + pt$. By [S2, Lemma 3.2],

$$(3.4) \quad \sum_{r=1}^{\langle a \rangle_p} r^{p-3} \equiv (-1)^{p-2} \frac{B_{p-2}(-a) - B_{p-2}}{p-2} \equiv \frac{1}{2} B_{p-2}(-a) \pmod{p}.$$

As $\binom{-1}{k} = (-1)^k$, taking $b = -1$ and $n = p-1$ in Lemma 3.1 and then applying (2.5), (3.4) and the known fact (see [S2, Corollary 5.1]) $\sum_{k=1}^{p-1} \frac{1}{k^2} \equiv 0 \pmod{p}$ we see that

$$\begin{aligned} \sum_{k=1}^{p-1} \frac{(-1)^k}{k} \binom{a}{k} &= \sum_{k=1}^{p-1} \frac{\binom{a}{k}}{k \binom{-1}{k}} \equiv -pt \sum_{k=1}^{p-1} \frac{1}{k^2} - \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r} + pt \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r^2} + pt \sum_{r=1}^{\langle a \rangle_p} \frac{1}{r^2} \\ &\equiv \frac{B_{p^2(p-1)} - B_{p^2(p-1)}(-a)}{p^2(p-1)} + \frac{pt}{2} B_{p-2}(-a) \pmod{p^2}. \end{aligned}$$

This yields the result.

Remark 3.1 Let $p > 3$ be a prime. Taking $a = -\frac{1}{2}$ in Theorem 3.1 and then applying Lemma 2.4 we deduce that

$$\sum_{k=1}^{p-1} \frac{(-1)^{k-1}}{k} \binom{-1/2}{k} \equiv -2q_p(2) + pq_p(2)^2 \pmod{p^2}.$$

In [T1], using a special method Tauraso proved the following stronger congruence:

$$\sum_{k=1}^{p-1} \frac{(-1)^{k-1}}{k} \binom{-1/2}{k} \equiv H_{\frac{p-1}{2}} \pmod{p^3}.$$

Theorem 3.2. *Let $p > 3$ be a prime. Then*

$$\sum_{k=1}^{p-1} \frac{(-1)^{k-1}}{k} \binom{-1/4}{k} \equiv -3q_p(2) + p \left(\frac{3}{2} q_p(2)^2 + \left(2 - \left(\frac{-1}{p} \right) \right) E_{p-3} \right) \pmod{p^2}.$$

Proof. Taking $a = -\frac{1}{4}$ in Theorem 3.1 we see that

$$\sum_{k=1}^{p-1} \frac{(-1)^{k-1}}{k} \binom{-1/4}{k} \equiv \frac{B_{p^2(p-1)}(\frac{1}{4}) - B_{p^2(p-1)}}{p^2(p-1)} - \frac{-\frac{1}{4} - \langle -\frac{1}{4} \rangle_p}{2} B_{p-2}\left(\frac{1}{4}\right) \pmod{p^2}.$$

By (2.8), $\frac{B_{p^2(p-1)} - B_{p^2(p-1)}(\frac{1}{4})}{p^2(p-1)} \equiv 3q_p(2) - \frac{3}{2}pq_p(2)^2 \pmod{p^2}$. It is known (see for example [S4, Lemma 2.5]) that $E_{2n} = -4^{2n+1} \frac{B_{2n+1}(\frac{1}{4})}{2n+1}$. Thus, $E_{p-3} = -4^{p-2} \frac{B_{p-2}(\frac{1}{4})}{p-2} \equiv \frac{B_{p-2}(\frac{1}{4})}{8} \pmod{p}$. Now, from the above we deduce the result.

Theorem 3.3. *Let $p > 3$ be a prime. Then*

$$\sum_{k=1}^{p-1} \frac{(-1)^{k-1}}{k} \binom{-1/3}{k} \equiv -\frac{3}{2}q_p(3) + p \left(\frac{3}{4}q_p(3)^2 + \frac{3 - \binom{-3}{p}}{2} U_{p-3} \right) \pmod{p^2}.$$

Proof. Taking $a = -\frac{1}{3}$ in Theorem 3.1 we see that

$$\sum_{k=1}^{p-1} \frac{(-1)^{k-1}}{k} \binom{-1/3}{k} \equiv \frac{B_{p^2(p-1)}(\frac{1}{3}) - B_{p^2(p-1)}}{p^2(p-1)} - \frac{-\frac{1}{3} - \langle -\frac{1}{3} \rangle_p}{2} B_{p-2} \left(\frac{1}{3} \right) \pmod{p^2}.$$

By (2.7), $\frac{B_{p^2(p-1)} - B_{p^2(p-1)}(\frac{1}{3})}{p^2(p-1)} \equiv \frac{3}{2}q_p(3) - \frac{3}{4}pq_p(3)^2 \pmod{p^2}$. By [S5, p.217], $B_{p-2}(\frac{1}{3}) \equiv 6U_{p-3} \pmod{p}$. Now, from the above we deduce the result.

Theorem 3.4. *Let $p > 3$ be a prime. Then*

$$\begin{aligned} & \sum_{k=1}^{p-1} \frac{(-1)^{k-1}}{k} \binom{-1/6}{k} \\ & \equiv -2q_p(2) - \frac{3}{2}q_p(3) + p \left(q_p(2)^2 + \frac{3}{4}q_p(3)^2 + \frac{5}{2} \left(3 - 2 \binom{-3}{p} \right) U_{p-3} \right) \pmod{p^2}. \end{aligned}$$

Proof. Taking $a = -\frac{1}{6}$ in Theorem 3.1 and then applying (2.9) and the fact (see [S5, p.216]) $B_{p-2}(\frac{1}{6}) \equiv 30U_{p-3} \pmod{p}$ we deduce the result.

Acknowledgment

The author is supported by the National Natural Science Foundation of China (grant No. 11371163).

References

- [B] H. Bateman, *Higher Transcendental Functions, Vol.I*, McGraw-Hill, New York, 1953.
- [L] E. Lehmer, *On congruences involving Bernoulli numbers and the quotients of Fermat and Wilson*, Ann. of Math. **39**(1938) 350-360.
- [MOS] W. Magnus, F. Oberhettinger and R.P. Soni, *Formulas and Theorems for the Special Functions of Mathematical Physics (3rd edn.)* (Springer, New York, 1966), pp. 25-32.
- [S1] Z.H. Sun, *Congruences for Bernoulli numbers and Bernoulli polynomials*, Discrete Math. **163**(1997) 153-163.

- [S2] Z.H. Sun, *Congruences concerning Bernoulli numbers and Bernoulli polynomials*, Discrete Appl. Math. **105**(2000) 193-223.
- [S3] Z.H. Sun, *Congruences involving Bernoulli polynomials*, Discrete Math. **308**(2008) 71-112.
- [S4] Z.H. Sun, *Congruences involving Bernoulli and Euler numbers*, J. Number Theory **128**(2008) 280-312.
- [S5] Z. H. Sun, *Identities and congruences for a new sequence*, Int. J. Number Theory **8**(2012) 207-225.
- [S6] Z. H. Sun, *Some properties of a sequence analogous to Euler numbers*, Bull. Aust. Math. Soc. **87**(2013) 425-440.
- [S7] Z.H. Sun, *Generalized Legendre polynomials and related supercongruences*, J. Number Theory **143**(2014) 293-319.
- [Su] Z.W. Sun, *p -adic congruences motivated by series*, J. Number Theory **134**(2014) 181-196.
- [T1] R. Tauraso, *Congruences involving alternating multiple harmonic sums*, Electron. J. Combin. **17**(2010) #R16, 11 pp.
- [T2] R. Tauraso, *Supercongruences for a truncated hypergeometric series*, Integers **12**(2012), #A45, 12 pp.